1-1 MR

-T_
wr |z R g E M U I P - B P!
T gl m® R HHE g K e
o) | S K0 o] ~0 nd K-
_ 1o UHo
m o w R Wm & _..M |z (g R | ®
Kad 8 m8 ao |00@ gy 4 E
w0 © 35 S pR |w A Al >
1= ~ 1 . .
- o] — KO
s Rzl e R e B =
Kigr W gk 8 g & g B R0
~0 o ol ) = Kq e)
o . Gl E fa 8 = Rl
xWp g Sw Ly Ty R W&
3l ] s |™ S )
B I R D R e ) R
wlZw T OT% Lo S0 S@ |i®
ol ! U w3 <M 2 g @ |l o
m , m K0 = K4 Al ) o] ~O
— N ™ < o) © ~ Wu
10
L8 L8 &8 &8 $8 8 o8 483
% D | m S | YOI g | T T T
0 o . R — o o — < — 0 — O —

Perfection requires the hand of time.
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Perfection requires the hand of time.

15:40~
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Perfection requires the hand of time.

\of S S =) ol
] _ K- ) KF |2y X0 30
o PR (M5 ®n Bo |tk
8 . 4 - K el = =
® 4w sw GE E |2
R0 TKRE R K oo %
o | o
o} - or e e
= R A Ild | SR < ol
= s Ze Do 19k X ol
i s s |8 R oh i) A0
K0 A, o o - ) =
4 +2 Bl lak yE |IFE
= Kk 0k o v o =
| | =
N ™ <t To) © N~ =
_ 10
) © L o L o L o 7 L o L o | ©
| FSo | ¥ T |0 | T8 | Jo | IX
52| 8% == |83 |37 62|85
- e I . I — R

|
\




X0
Kk
O

1-6 KrfElZ

Ol8=

ER

A
=

=

R

=
=

g

70
0k
3l
K0

ol

Olg &

iior

o]

ol
i1c
30

Ll
[y

0

al

HE
Perfection requires the hand of time.
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Pertection requires the hand of time.
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